/[/rfc}’\ or /17’&14' /<E\/ Z

Trhal Value |

O y'=a+x™> y)=e

4 (D=7
3
jéux“"c\x:g&— Jz—&c F(‘)*‘ jéth"")dx:F@
; (0::. 9\)(- & + C | 3

b= &= +C G+(gx-§z||)=?(3)
c:=5 .
6D - 9\)(___1_)2 s b+ ((o*'_‘;')"(&-(>=f:(?,

2

tD=ad-4+ =% M
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Tnitial Value 2
.
&) F(D)= FO+ JS sin (%) &t
1 13
F(D= Ha [sgn (32)dE
b

El1= 24,847

@ ()= F (o) fa’lthr

F(D= 4+ (ot Total Tncrease:
e g 7
l : | f%"o\lﬁ /0. 097 mil
;: | - . 0 '
Pofw\a~ﬂ0'ﬁ ot £=3 houwrs i 14.099 mil
; @ s(2) = s(o)+ j‘f::—; ot

i 0
: s(= 54+ (£ _

JO 4% =
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TwiHal Value 3
%4 o= A0

(E
-
2
—
W
[
-
|
!
i
&

b
e = T- F(-4)
: gT-71 = —F(-4)
o Fi-4) = =60

© 9 e rs - 2
b €= 26X +5+ (CED) =65 E
) 542y D+ KT -6s+am

meaL\ Voalue 4.

(v ) yf(;qu-:g b} b, 8

O flfmdx £(+) ~F(0) &F(ﬂ)o\vv F(6) F()
3 - F(o
Flo)= |> -1=F ) -3
? F((Q)——-L\'
Fl)dx = F(&— F(k)

6 Lf~£((§)c)(®

Scanned by CamScanner




‘°> Tne (O:QDU((O;QD bfc devivative is pos
| Dee. (R;(O) ble derivative s neq

C’> CETs (O,OOﬁﬁlﬂ)bla 2% der, is pos
N (3,‘!)0(7’,?)\0[¢ 2% dev, is neq

FTC Apps FR@ \ -
Q) W@=1l ,WR@®= 2 W®@=-2
D) (413 W s neq

D X=4 W pesdo ney
N rela

r"an Volue = -+ .5

(0, LD agd=Ix
(112 5((0) + LEX1+6) = 10,5

| FTC Apps FRO2S 2-2b.S=-4.5
| D ) o(-D=3, a()=-6, a®="b

b) x==4
Q) gle)= -3, q (D=0, q(®)=3

) o'@=, 9" (=)
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FTC Poes FeQ 3 ¢ | ,-\
(> a) X =¥ |
b) (>, a|
c) (s
d) 3

e) DNE

"V) (o ,(g>

FTC Apps FeQ y
Daya(D-5, o'(H=3, ¢'()=0
W) [-2,0) u(&,10) Ve g neq
c) (H,10) b e <lope of 9 V\%
(}) X =4 lo >|ope. of % C_l‘{\gvv\aes ?;er\

Motion TPQ[ '
@ 2 L 10t = 42 x 3
> jJ(J 4 )k T+§'{'IO+ \o
=9 +—%j_~-—’50> ~ 0
o =i
'o) Slousing doudn - B
v{#)=0 =+£% 3~ L
(++Jc-,>(+ a) 0 L =1 T SV
S 0 2
o) =0 = k43 L e
JC::—B— -2 0 2
2 Z 2
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c) j|£1+’3w‘:-fo| d+t
0

Motion FRQ 2
@a> o ()= —H H/fsec™

\/("E)z J‘_q I = -4+ +¢C = V(‘P)

19 & -—L}(O> el
c =12

V(#)= -4+ +12
% ' 4
ovg VD = j\G?LPcHl)d"F e PN

Q

—
—

0Q

1

=== "'l&?-’rq
‘“—o—i‘a:‘%i\. = 4 ftlec

[

b) V) = ~Yr+in= -4

! — —

+= Lll Ssec

CL) v inc whan  a ) is pos
a )= -4 Qr/se_cf'

newv

?
ﬂ

CD J J”-l-E+ll\ ot - 20
0 | /| '{i(% D)+ 5 ()20

x/,/ J ¥4+ 50
- é — (D? _C,\_
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Motion FRQ 3"
@ o) ot when V() s pos

V) =3cos (2D =9

4= 7785 Ty

2.250 71

= 2,427 =4

=, 099 T
rignt: (o, 12D U (2,356, 5.93DV( 5492, 2T )

sl
b) 5\5¢os(a+)l dt =[x in

c) x()=5 . x(w)=?
%(0) «-J vid) = x () _ﬁ_

b
S+ | 2cos(a)dt = H 195 n
0

) speeding Lp V(D) o) same Signs
Sm“(’\n onn calc:
(%5, L1 Y v (2. 256, 3. 142) U
(3,927, 4,713) U (5,492, &)
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Motion FRQ 4%
@ Q)  ak)= ot+l
v(£)= Jatwat

v = L + C

)= £« 22 qk -2
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Motion MC |
de value of
O %\Vq'eb(:saf[UL wv\(?;\;,r cuvrvye

(D642 + S (2X(V)
|2+ [ =12

@ o (¥) = At =1 Ozt &Y
g romb 4l = ©
- V(% 4
W= f(ou -T)dd 0= e J(;)(\T—:)..o
viE) = -t +c N

b= Brler. QJHH”(%V&)

c =l
Motion MC 2 X ) = j& -7++'a)oU—
@ o &) = + 4 Siat Y &) = ;\:_ 7Jc L bt
5 wily ¥ =a + x(Jr)
VD)= J(—'c+s?n+)0'~f' ol ©
V)= 12 _cost +C @ )
= B e c;-"' i
v(F)= & - cost -l = Frthost right
@ "c-lL{?cec, at t=|
C V()= Cos (&—-'{"") \/G')‘:O: COS(&"'\J‘)
<(A) = 3+ [cos(a- e

0

L. 81
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